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1. BEEBEOI
(1) #2EUNEE
HARUEERE 73,370,000 87,450,000 A 14,080,000
ARG EZNERLE 72,350,000 86,820,000 A 14,470,000
HEARBEZRAE 1,020,000 630,000 390,000
BEEEERKE 20,000 40,000 A 20,000
BREBHBMASIAEEZIRAE 0 0 0
B EME5 | L EEZIFR 0 0 0
FHRESEERSZIIAR 0 10,000 A 10,000
EANEEBERESZIIAR 20,000 30,000 A 10,000
ZEEMH & 8,000,000 8,000,000 0
BN EF M EiRkE%E 8,000,000 8,000,000 0
MR IE 10,000 0 10,000
ERTEZRA A 10,000 0 10,000
PREE X EEIREEE 15,000,000 11,000,000 4,000,000
EEINAEE 96,400,000 106,490,000 A 10,090,000
2) BEER

EXE 77,370,000 84,850,000 A 7,480,000
(MR E) 50,000,000 59,000,000 A 9,000,000
BN E 37,000,000 43,000,000 A 6,000,000
HREXRRIEME 8,000,000 10,000,000 A 2,000,000
ERE2M R RIENE 5,000,000 6,000,000 A 1,000,000
EXEEE 27,370,000 25,850,000 1,520,000
EEE 6,200,000 6,700,000 A 500,000
SEE 1,500,000 1,800,000 A 300,000
ENRI S ARE 1,600,000 1,700,000 A 100,000
1% B 3R 7,600,000 7,600,000 0
wE5-#ihEs 3,600,000 3,700,000 A 100,000
EERMEGFER) 1,600,000 0 1,600,000
HEBRBETSILEEALE 820,000 1,050,000 A 230,000
BB REHATER 450,000 600,000 A 150,000
WREXEE 800,000 900,000 A 100,000
EfEw 2,000,000 1,700,000 300,000
XBERTEFH) 1,100,000 0 1,100,000
HE 100,000 100,000 0
I 17,350,000 18,890,000 A 1,540,000
N 8,700,000 10,250,000 A 1,550,000
&% B 3R 4,200,000 4,200,000 0
w5 -#ihEs 2,500,000 2,500,000 0
HEBRBETSILEEALE 600,000 600,000 0

B e REHRTER 300,000 350,000 A 50,000
EERMNE 1,100,000 2,600,000 A 1,500,000
=3 1,700,000 2,700,000 A 1,000,000
SEE 1,700,000 2,700,000 A 1,000,000
EHBmE 6,950,000 5,940,000 1,010,000
HEERE 500,000 800,000 A 300,000
FNRI S ARE 250,000 250,000 0
WREXEE 1,150,000 1,400,000 A 250,000
BIEEMRE 250,000 300,000 A 50,000
REZE 150,000 200,000 A 50,000
EfEw 1,300,000 1,150,000 150,000
XBETEFH) 1,700,000 0 1,700,000
BHELE 50,000 40,000 10,000
HE 1,600,000 1,800,000 A 200,000
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BEER 94,720,000 103,740,000 A 9,020,000
ST 5 % 5 22 B < HALE R %R 1,680,000 2,750,000 A 1,070,000
B =E ATy 0 0 0
LR R IEIEEE 1,680,000 2,750,000 A 1,070,000
2. BESNEBOE
(1) #BE 5 UREE
BEsinasst 0 0 0
2) BENEH
RENER 0 0 0
LR B MEIFEE 0 0 0
heEHiRE%E 0 0 0
L H— AR IE KB EE IR RE 1,680,000 2,750,000 A 1,070,000
—RRIECREAE AT RS 25,133,538 22,383,538 2,750,000
—RRIEDREAEEAR RS 26,813,538 25,133,538 1,680,000
I EFIERBEEROAE
ZEEMH & 8,000,000 8,000,000 0
ARG EERE 73,370,000 87,450,000 A 14,080,000
EARUEZNERLE 72,350,000 86,820,000 A 14,470,000
HEARBEZIRAE 1,020,000 630,000 390,000
BEEEERKE 20,000 40,000 A 20,000
—PARIERREAEE~ DR EE A 96,390,000 A 106,490,000 10,100,000
L HAYE E IE KB EE 1R R R A 15,000,000 A 11,000,000 A 4,000,000
IEEIERBM EREXRS 4,416,548,391 4,427 548,391 A 11,000,000
EEERMESHRES 4,401,548,391 4,416,548,391 A 15,000,000
I ERMEHRES 4,428,361,929 4,441,681,929 A 13,320,000




